
COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RÉSERVÉS | COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED

Merci d’avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts

Procédure - Proccess

Outils nécessaires - Tools required for assembly

/ 5Difficulté - Difficulty

NOTICE DE MONTAGE - INSTALLATION INSTRUCTIONS

Universal Trail headlight plate

Plaque phare Trail universelle

2

•	 Clefs torx - outillage standard •	 Ratchets torx - classic tools

Colliers
Collars

Optiques
Headlights

Plaque phare
Headlight plate

Supports phare
Headlight brackets

Platine de maintien
Holding plate

2x M8x20

3x M6x16 + Rondelle
3x M6x16 + washer

4x Vis tôle + rondelle
4x Sheet metal screw + washer

2x Ecrou M8 + Rondelle
2x M8 Nut + washer

Vis de maintien
Holding screws

La plaque phare est livrée avec un câblage plug&play convenant à la plupart des motos sans modification. (prise 3 
voies pour ampoule H4). Néanmoins, il est possible que vous ayez à modifier votre câblage d’origine. Si vous n’avez 
pas les connaissances nécessaires, veuillez faire appel à un professionnel.

The headlight plate comes with plug&play wiring suitable for most motorcycles without modification. (3-way 
socket for H4 bulb). However, you may have to modify your OEM wiring. If you don’t have the necessary skills, 
please contact a professional.



COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RÉSERVÉS | COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED

Merci d’avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts

Etapes d’assemblage - Step of the assembly

Installer les optiques comme illustré.
Install the headlight as shown.

Positionner les supports d’optiques.
Install the headlights brackets.

Visser en serrant modérément les 4 vis de type tôle dans les optiques.
Installer la platine de maintien, puis dévisser les 2 vis nylon afin que celles-ci viennent plaquer l’ensemble à la 
plaque phare.
Screw by tightening moderately the 4 sheet metal type screws in the headlights.
Install the holding plate, and unscrew both nylon screws so that they hold the assembly to the headlight plate.



COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RÉSERVÉS | COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED

Merci d’avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts

Visser la vis située sous la plaque phare afin que l’ensemble ne bouge plus.
Installer les colliers de patte de phare. Serrer les vis modérément.
Tighten the screw located under the headlight plate so that the assembly no longer moves.
Install the headlight bracket clamps. Tighten the screws moderately.


